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Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
@I TS 2o Tea mis ¢
1) If16,x, 25 are in GP, find the values of x and y.

Tt 16, x, 25 SN HACS AF O@ X 8 y G S
fefa et |

ii) Ifk*-7k, k*+9 and 6 are in AP, find the value of
k.

T k2-7k, k29 G3R 6 TG &9ifeCe A ©OIgee k
G T F© ?
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iii)

Vi)

vii)

viii)
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If interest is compounded at the end of each year,
find the compound interest on ¥10,000 at 5%
p.a. for 2 years.

i &fe =@ i@ redt 7=, 10,000 S 1S
5% BICH 2 TR ba e A e A |

Find the harmonic mean of the numbers 1,

ENEE

11
29309
1, 7-3>7 ARG Zaes w4 el 6 |
Find the value of log, (125).

log, - (125) @ =i ferefar et |

Define 'Regression line'.

‘efoae @ iges! vie |

If b, =-04 and b,,=-0.9, then find the
coefficient of correlation.

M b, =-0.4 @GR b, =-0.9 7, O A2ARTES
ol Toief e |

Solve ;: 9x 81 =57

T A 9N =
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X1)
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4x° — d
If y= X , then find the value of = .
x+7 dx

4x°-9  d
X Wf—y G i el 3t |
X+7 dx

y:

Show that f(x) = x’+3 is continuous at x=1.

Al @ f(x) = x* +3 oo x=1 {09 7eo |
What is a Pie Chart?

#If foa I 0T 2

If  Z2p,q,=79, £p,q,=208, £p,q,=62 and
>p,q, = 214, find Fishers Quantity Index.

I Tp,q,=79, Zp,q,=208, Tp,q,=62 @I

Ip,q, =214 = oI feim-a7 Al spps e
AN

For a moderately assymmetric distributon,
mean=26, median=27. Find mode.

A TEWE @30 AR T 26 G [
27 30E AT W Fo 2

Prove that log, 6 =log, 1+1log, 2+ log, 3
e ¢l log, 6 =log, 1+1log, 2+ log, 3
What is 'Deferred Annuity'?

e AR I et 2
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2. Answer any four questions:

5x4=20

@-CFI o1 & Ted e ¢

i)
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The cost price of a machine is ¥80,000. The
estimated scrap value of the machine at the end
of its lifetime of 10 years is ¥12,000. Find the
amount of equal annual installment to be
deposited at 9% p.a. compounded annually is just
sufficient to meet the cost of a new machine
after 10 years, assuming an increase of 40% of
the price of the machine. The first instalment is
to be paid at the end of the first year. [Given,

(1.09)" = 2.368]

GFTs FIRICTR @ o 380,000 | (il (ofs, SR
10 727 #ita IIsR 4o 3@ 263 212,000 1 9%
b A AR A @ B8 &l et 10 st (<1
G0 g I (@11 A, AT T O 40% @
7@, (T2 [fea wifme ey s | e 6l ae

(T Tl e ' | [T (1.09)' = 2.368 ]

Ifa, b, ¢, d are in GP, show that :
M a, b, ¢, d BETET OO AF ©@ @S (@,

(b—c)2 +(c—a)2+(d—b)2 =(a—d)2



iii)

If 22 4+ b% = 7ab, show that :

I a? +b% = 7ab T, 9@ @A @

log(a;b) = %(loga+ logb)

If the median of the following frequency
distribution be 33, find the missing frequency:

feFa St [eted 3 5w 33 3@ oe
sifeprcan ey et

%9 (Marks) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

IR

(No. of Students)

8 12 | 21 ? 20 9

v)

Find the coefficient of correlation from the

following data :

w7 e (A Teeifaasa werE e s

x:| 1y 23 |45 ]6 |7

y:| 6 8|11 |9 12]10 |14

Vi)
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Following are the daily wages (in Rupees) of
30 workers in a factory. Make a frequency
distribution taking class-interval of Z10.

GFfb P 30 T 2R Wiew TgE7 (GRAR)
0 mem = | ARetsl @7 T 10 B 40 @ F o
sAfsercan Rreree tefd st
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60
26
40

3.  Answer any two questions :

45 41 32 47 45 50 37 53 17
39 59 48 44 12 30 25 36 18
62 46 29 32 54 41 14 32 30
10%x2=20

@I v 2ed Tea vie ¢

)
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A man divided a sum of ¥18,750 between his
two sons aged 10 and 13 years respectively in
such a way that each would receive the same
amount at 3% p.a. C.I. when both attain the age
of 30 years. Find the original share of the
younger son. [Given, log(18750)=4.2729,
log(2.092727)= 0.3206, Antilog(3.952)=
8960]

93 If& ©1F 10 929 @ 13 I%E&F 12 5069 W&
18,750 BIF! 3+ ©ItF @19 ¢ et (@ e 1
T4 30 T2 2(J 9L JF 3% b@gia W A
a3 AT S {17 | FTog AU T I (oAEE

faefg st @A [log(18750)=4.2729,
log(2.092727)= 0.3206, Antilog(3.952)=

8960]

The distribution of weights of 60 students of a
class in a college are given below. Draw a
histogram and hence find the mode :

FE 930 SETE @9 90 @A 60 T »egd
IS izl\'al\%\l RIEIGI L‘Mﬁ’ IO (1 AT I

[6]



G2 (I (AT AT s el e

QGrey 30-34 | 35-39 | 4044 | 4549 | 50-54 | 55-59 | 60-64
(Weight in kg)
AN 3 5 12 18 | 14 6 2
(No. of Students)
T .
111) Fin 4 When:
d
. Gt 1, w4
dx
a)  y=x’-3x+1
b) y=(x+\/x2+a2) 545

iv) From the following results obtain the two

regression equations and estimate the yield of

crops when the rainfall is 29cm and the rainfall
when the yield is 600kg :

o3 @i wetieet @l (A afoarse 70 g e
TR G2 TX IS 29 GIfS T T SAMEH
SRS 7 ¢ T T 600 el w9 RIS

LIS S el R
Y
Tl (fFal)
Yield (kg)
J4<F (Mean) 508.4
75 AL (S.D.) 36.8
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X
Iftrs (@)
Rainfall (cm)

26.7
4.6




